000 OO0(00D00)0 20170 30 70

— Typeset by FollTEX —




o DO ODUOOOODODOO
— ooyt

o I DUOLODUOOOODDODLOO O

e I DD UUOOLODNO

Jobobodddbbboodtdi



Joboodtdi

Jdddoboooobot, ddddoboong g
oo onnn

Odim[g,g]
eg LUOOOODONO?
o |- OO X(g)



oooo [, ]

:Xla XZ
:le XZ
:Xla XZ
:Xla XZ
:X29 XS

:Xla XS
X1, X3:
X1, X3]




Remarks

e L3(a) EL3(B)<—a=0 o af=1

o Lj(a) = [Y1, Y] =Y, Y1, Y3] = aY;
(a # 1)

o L3(1) = [Y1, Yo = Y3, [Y1,Y3] =Y+ Y3

o L, = [Yivié]:léa [}/191/?3]:1/}3
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Clo C13 — Ci3 Clg  Clg Cog — Ch3 Cly — Co3Ci3 + Ci3C53 = 0
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12b + 102¢ —12a + 162¢ —102a — 162b




HgEpE

Tr ad X = —88(2a + 4b + 7c)

Tr (ad X)2 = 4840(2a + 4b+ 7¢)2 000 O
2.88% 16

x(8) = 2oy 1810 — 3

o-+1) 16 1
qgg et — 00000, a=3, —

Q 3 3

000, g = L3(3) (= Ls(1/3))



HREREREN [ : ]
My
My X1, Xo] = X3
Mo X1, Xo] = X3, [ X1, X3] =Xy
M3 X1, Xo] = Xy, [X1,X3] = X3, [X1,X4] =Xy
M4(CY) :Xl,XQ: = XQ, :Xl,Xg: = Xg, :Xl,X4: = X3 -+ CYX4
M4(OO) :Xl,XQ: = X2
M X1, Xo] = Xo, [ X7, X3] = X3, [ X1, Xy =2Xy, [Xo, X3] = X4
Meg X1, Xo] = Xo, [ X1, X3] = —X35, [Xo, X3] =X
Mr7(a, 8) | [ X1, Xo] = Xo, [X1, X3] = Xo+aX3, [X1, Xy = X3+ 8Xy
Mg(O&) Xl,XQ = XQ, Xl,X3 = X2 —+ OéXg, [Xl,X4] = (Oé + 1)X4, [XQ,X3] — X4
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